PROBLEM SET 4
1) Use Feynman’s prescription to write down the invariant amplitude for - K+ electromagnetic scattering. Draw and label the corresponding Feynman graph.  

Hint: See lecture 6 pages 3 to 9.

2)  Evaluate 
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 for - K+ scattering in the centre of mass frame in terms of the centre of mass variables for momentum P, energies E and EK, and scattering angle CM.

3) Prove the relation    
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(a) by using explicit components

(b) by using Lorentz covariance since the result cannot depend on a given polarisation vector as we are summing over all s.

Hence the result must be a tensor made up from g and PP.

i.e. it must have the form –A g  +B PP .

Find the coefficients A and B by taking scalar products with g P and P.

(Remember the result  gg = 41.
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